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QUESTION 1

Which subsystem parameter setting allows connection queuing?
A. IDTHTOIN>0

B. CONDBAT>0

C. POOLINAC>0

D. MAXCONGN >0

Correct Answer: D

QUESTION 2

Which information uniquely identifies a distributed thread?
A. The \VID\\' field in the -DISPLAY THREAD output.

B. The WREG\\ field in the -DISPLAY THREAD output.

C. The \VASID\\' field in the -DISPLAY THREAD output.
D. The TOKEN\ field in the -DISPLAY THREAD output.

Correct Answer: D

QUESTION 3

In a data-sharing environment, what is the first step to prepare for a DB2 RESTORE SYSTEM to a point in time?
A. Stop all DB2 members.

B. Stop one DB2 member.

C. Do not stop any DB2 members.

D. Stop only the member where RESTORE SYSTEM will run.

Correct Answer: D

QUESTION 4

Which DB2 system table can limit the amount of resources that can be consumed based on client or IP address of the
client?

A. SYSIBM.IPLIST
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B. SYSIBM.IPNAMES

C. SYSIBM.DSNRLSTO01

D. SYSIBM.DSNRLMTO1

Correct Answer: D

QUESTION 5

Which DB2 catalog or directory table space CANNOT be reorganized?

A. DSNDBO01.SCTO02

B. DSNDBO1.SYSUTILX
C. DSNDBO06.SYSTSCPY
D. DSNDB06.SYSTSPDO

Correct Answer: D
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